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QUESTION 1

Which of the following statements about Oracle backup is incorrect?

A. Physical backup is the most robust data protection mode

B. Logical backup can be used as a supplement to physical backup

C. Oracle backup can be classified into physical backup and logical backup

D. Physical backup is to use the export tool to export important data (such as user tables and functions) to a file. After
the data is restored, use the tool to import the data to the database again

Correct Answer: D

Reference https://www.oracle.com/technetwork/database/features/availability/br-overview-097160.html

QUESTION 2

A connection mode between the DAS and the server. The storage device is directly connected to the server through
cables (such as optical fibers). Which of the following statements are correct?

A. The system needs to be powered off when the core components of the DAS are maintained
B. When multiple hosts are connected to the DAS, services of different service levels can be provided
C. The number of ports that can be connected to the host is limited

D. The DAS with insufficient storage space can share the remaining space of the DAS with excessive storage
resources

Correct Answer: B

QUESTION 3

The Simpanat provide backup, archiving, replication, resource management and distributed search modules. Which of
the following statements is incorrect?

A. The distributed index technology improves the reliability and performance of the backup system
B. Data classification indexes are used to classify data files to improve data backup and archiving efficiency

C. Distributed index (also called 2-segment index) indicated that index information is managed by the management
server (CommServe) and media server (MediaAgent).

D. Level-1 indexes are managed and maintained by the media server

Correct Answer: C
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QUESTION 4

Large-scale cloud data centers use regions, AZs, and DCs to organize resources and ensure security management.
A. True

B. False

Correct Answer: A

QUESTION 5

Which of the following statements about the VM package OVF and OVA is correct?

A. The OVA file can be abstracted as a file package composed of several different types of files
B. The two encapsulation formats are defined by DMTF (Distributed Management Task Force)
C. Only the OVF image package can be used in FusionCompute

D. The image package in OVF format must be decompressed first

Correct Answer: A
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